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QUESTION 1

Which statement is TRUE when comparing Virtual Machines and Containers?
A. Virtual Machines are faster to boot.

B. Contained do not need a CMS.

C. All Virtual Machines on the same hypervisor must run the same guest OS.
D. All Containers on the same host use the same OS kernel.

Correct Answer: D

Reference: https://www.nuagenetworks.net/blog/more-on-docker/

QUESTION 2

What statement about Open vSwitch is TRUE?

A. It is a standard virtual switch that can run on any operating system.
B. It can only be configured using Openflow by an SDN controller.

C. It provides tunneling mechanisms, for example: VXLAN.

D. It supports most of the open protocols, for example: OSPF, BGP.

Correct Answer: C

QUESTION 3

The ML2 plug-in is part of which OpenStack project?
A. Neutron

B. Ironic

C. Nova

D. Heat

Correct Answer: A

Reference: https://docs.openstack.org/mitaka/networking-guide/config-mi2.html

QUESTION 4
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What statement regarding Openflow sessions in data center networks is TRUE?

A. By default, the Openflow session is established with TCP port 6633.

B. Openflow sessions run between VSCs.

C. Security in mandatory with SSL encryption.

D. Openflow sessions can be established over either the data plane or the management plane.
Correct Answer: C

SSL (Secure Sockets Layer) is the standard security.

QUESTION 5

What statement is FALSE regarding the forwarding policies used in VCS for traffic redirection (also known as service
chaining)?

A. Forwarding policies can be applied to either ingress or egress traffic.

B. Redirection targets should be created in advance and associated with vPorts.

C. Redirection targets cannot be associated with host vPorts (physical appliances).

D. A forwarding policy can be created in an active domain or be instantiated from a template.
Correct Answer: D

Reference:

https://www.nuagenetworks.net/wp-content/uploads/2020/06/

Nuage_Networks_Service_Chaining_Technical_Description_Document_EN-compressed.pdf
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